
   P. T. O. 

No. of Printed Pages : 6 LSE–01 

BACHELOR OF SCIENCE (B. SC.) 

Term-End Examination 

June, 2024 

LSE–01 : CELL BIOLOGY 

Time : 2 Hours     Maximum Marks : 50 

Note : (i) Question No. 1 is compulsory. 

 (ii) Attempt any four questions from 

Question No. 2 to 6. Draw well labelled 

diagram wherever necessary. 

 

1. (a) Fill in the blanks with appropriate words :  

5×1=5 

 (i) Intake of fluid material into the cell is 

called .................... . 

 (ii) The area between two ‘z’ line muscle 

cells is called ...................... . 

 (iii) 1 cm is equal to .................. mm. 

 (iv) The process of breakdown of glucose to 

pyruvate is known as .................. . 

 (v) Na+ – K+ ATPase is found as an 

integral part of ...................... . 
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(b) Match the following items in Column-I 

with Column-II : 5×1=5 

 Column-I  Column-II 

(i) Replication fork (a) Lipase 

(ii) Citric acid cycle (b) Separation 

(iii) Fatty acids (c) Amino acid 

(iv) Chromatography (d) Okazaki 

fragments 

(v) Zwitter ion (e) TCA 

2. (a) Define Osmosis. Explain, how a cell will 

behave in hypo and hyperosmotic solutions 

with suitable example. 5 

(b) What is enzyme specificity ? Describe lock 

and key hypothesis. 5 

3. Differentiate between any four of the  

following  :  4×2
1

2
 =10 

(i) Eukaryotic and Prokaryotic cell 

(ii) Hormones and Enzymes  

(iii) Mitosis and Meiosis 

(iv) Parenchyma and Collenchymas  

(v) Fluorescence and phase contrast 

microscopy 

(vi) Metaphase and telophase of mitosis 
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4. Draw neat and well labelled diagrams of any 

two of the following : 2×5=10 

(i) Chloroplast 

(ii) Mitochondria 

(iii) Plasma membrane 

5. Write short notes on any two of the following :  

2×5=10 

(i) Blood 

(ii) Cell cycle 

(iii) Isoenzymes 

6. What is transcription ? Describe mechanism of 

RNA synthesis in prokaryotes. 10 
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(i) 

(ii) 

]

5×1=5

(i)  

(ii)  ‘z’

(iii) 
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(iv) 

(v)  Na+ – K+ ATPase

I II

5×1=5 

 I  II

(i) (a) 

(ii) ª (b) 

(iii) (c) 

(iv) (d) 

(v) (e) TCA 

]
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4×2
1

2
 =10 

(i) 

(ii) 

(iii) 

(iv) 

(v) 

(vi) 

2×5=10 

(i) 

(ii) ª

(iii)  

2×5=10

(i) 

(ii) 

(iii) 

ª

RNA
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